


WiER BRI EE ERMERRBES

% g & - BARTE Bifg B 2 B ® & wmzE
E R 14,276,832 + 153,683 14,430,515
EEAGE 14,276, 832
EEEE 153, 683
T At R i 14,276,832 x 53.85% (35% + (1 — 35%) ) 7,688,074
EHRE 14,430,515 + 7,688,074 22,118, 589
—REEES 22,118,589 x 53.85% ( 35% = (1 — 35% ) ) — 9,449 11,901, 411
ES it 22,118,589 + 11,901, 411 34,020, 000
HBETEALE 34,020,000 x 10.00% 3,402, 000
EBREH 34,020,000 + 3,402,000 37,422,000




BEANRE ENENEE ERERBB 255
2 L AR - BT By 2 i & ¥
E R 14, 430, 515
BN EE R B B £ 14, 430, 515
BN EE G R B B £ 14, 430, 515
BN EE R B B £ 14,276, 832
BETMEE DT - BIE 4,513,113
| BFEREE DS - BE 1 (HiE 1.00 4,237,072 4,237,072
EHE (5 0EELUT) ) "
I
2 BIREEEOAH - BE 2 (iR 1.00 206, 015 206, 015
=EER (5 1IEBULE) ) %
I
3 RIFIEREE O - BE3 (fhIAE 1.00 70, 026 70, 026
HEFER (1F) ) i
=
T—ERN—ZADER - B 7,214,799
4 BRET—A4N—XDER - BH 1 1.00 3,809, 734 3, 809, 734
(1 0&LTF) i
=
b BftHIRET—4R—ADER - BH 2 1.00 70, 707 70, 707
(11&L) i
=
6 IEEFET —EIR—ADERK - B 1 1.00 3,271,017 3,271,017
(1 0&LTF) i
=
T IEEBET—IR—ADER - BH 2 1.00 63, 341 63, 341
(11#&HL) i
=
ZELSEHDER 840, 420
8 EREESEHDIER 1.00 840, 420 840, 420
=y
Té+® 1,507, 500
9 4TEE 30.00 50, 250 1,507, 500
=




BEANRE ENENEE ERERBB 255

% [ Bg - KT B % B B i * % wmE

& - WS 201, 000

10 #3% - |& 4.00 50, 250 201, 000
]

EEEE 153, 683

EHARE 125, 683

1 EBAME 1.00 125, 683 125, 683
=

B2 28,000

12 £BHER 1.00 28, 000 28, 000
=




REAR-ET/Avr—> ENEMEE SR RREER
5:1
L HITIEREE O - BE1 (R RTMER (5 0EEMUT) ) B
2 o B - BIRTE Bif B B # W = w =
AR (A)
A 17.08 55, 200. 00 942,816
iR (B)
A 68. 32 45, 300. 00 3,094, 896
HEF (C)
A 5.60 35, 600. 00 199, 360
& 5 YE%8eH - 1.00K 4,237,072.00 4,237,072
5:2
S HIFIRRER O - BE 2 (HHIHEERIMER (5 1EBUL) ) EED)
2 o B - BIRTE B B B # W = w =
AR (A)
A 1.45 55, 200. 00 80, 040
AR (B)
A 1.83 45, 300. 00 82, 899
HEF (C)
A 1.21 35, 600. 00 43,076
& 5 YE%8eH - 1.00X 206, 015. 00 206, 015
5:3
LF  HITEREE O - BB 3 ETANMEE (18) ) EED)
2 o B - BIRTE B B B # W = w =
AR (A)
A 0. 36 55, 200. 00 19,872
iR (B)
A 1.06 45, 300. 00 48,018
HEF (C)
A 0.06 35, 600. 00 2,136
& 5 YE%8eH - 1.00K 70, 026. 00 70, 026




Rifiz -/ \v7r—o

ERRMBEEERERHBES

5:4
B BHTRET— 2 R—XDER - BH 1 (1 0FUT) IEE=D)
% 7 L - IRTiE BT = =i ] %5 W= 5 =&
A (A)
A 13.35 55, 200. 00 736, 920
A (B)
A 58.74 45, 300. 00 2, 660, 922
HEm (C)
A 11.57 35, 600. 00 411, 892
& i E%4EH : 1.00=K 3,809, 734. 00 3,809, 734
5:5
B BHTRET— 2 R—XOER - BH 2 (1 1HUL) IEED)
% 7 L - BIRTiE BT = =i ] %5 W= 5 =&
A (A)
A 0.37 55, 200. 00 20, 424
A (B)
A 1.1 45, 300. 00 50, 283
& i E%4EH : 1.00=K 70, 707. 00 70, 707
5:6
B TERBET—ER—ROER - BH 1 (1 0FUT) 1X&Y
% 7 L - IRTiE BT = =i ] %5 W= 5 =&
A (A)
A 12.46 55, 200. 00 687, 792
A (B)
A 50.73 45, 300. 00 2,298, 069
HEm (C)
A 8.01 35, 600. 00 285, 156
& i E%4EH : 1.00=K 3,271,017.00 3,271,017




KT -FEIT/ SNV —2 ENREMBEEEFMERHBIER
5:7
B TERBET—ER—ROER - BH2 (1 1HUL) IEE=D)
% o L - IRTiE BT = B @ %8 5 =&
A (A)
A 0.26 55, 200. 00 14, 352
A (B)
A 1.05 45, 300. 00 47, 565
HEm (C)
A 0.04 35, 600. 00 1,424
& § fE%8Eh ;1. 00X 63, 341. 00 63, 341
5:8
& ERZEREHOER IEED)
% £ L - BIRTiE BT = B @ %8 5 =&
A (A)
A 1. 60 55, 200. 00 88, 320
A (B)
A 3.40 45, 300. 00 154, 020
HEm (C)
A 16. 80 35, 600. 00 598, 080
& § fE%8Eh ;1. 00X 840, 420. 00 840, 420
5:9
B HTEE 1E %Y
% £ L - BIRTiE BT = B @ %8 5 =&
A (A)
A 0.50 55, 200. 00 27, 600
A (B)
A 0.50 45, 300. 00 22, 650
& § fE%8eH - 1.00E= 50, 250. 00 50, 250




KT -FEIT/ SNV —2 ENREMBEEEFMERHBIER
&5 :10
B 1% - e HEER
2 o g - BIRTE By = B ff ® 5 =&
AR (A)
A 0.50 55, 200. 00 217,600
HER (B)
A 0.50 45, 300. 00 22,650
& it YE%8EH 1. 00[E 50, 250. 00 50, 250
&5 1
2% EHARE 1LY
2 £ g - BIRTE By = B ff ® 5 =&
EHARE
= 1.00 125, 683. 00 125, 683
& it 1EZRER - 1.00 125, 683. 00 125, 683
&5 12
B EBBERR 1LY
2 £ g - BIRTE By = B ff ® 5 =&
EBHRERE
= 1.00 28, 000. 00 28,000
& it 1EZRER : 1.00 28, 000. 00 28,000




